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<mEETHEI>

(o 1-SL _ 3.739-3

CPk=" s ~3x0372

(o LSL _ 3.739-3

CPk=" 55 ~3x0.372

=0.662

AR 7] EfIchhniHERE ROR—SOFERE
EITT5E ADXIGHERRITGYVET,
Sheet1
X1 | X2 [ X3 | X4 [ X5 X6 | X7 | X8| X9 |X10|Mean|Sigma| Mean|Sigma
Y1 [3.95|4.64|3.81|3.40| 3.80| 3.57| 3.35| 4.02| 3.50| 3.74 3.778| 0.377
Y2 |3.27|3.22{4.16| 3.15[ 4.03| 4.00( 3.74 3.99| 3.72| 3.71 3.699| 0.367
mean| 3.739| 0.372
|
r—hl/——\-f— ' == 4= 4
N=20 EATHI i N=20 BETER
MIN(A)= ! MIN(A)=3.15
MAX(A)= ! MAX(A)=4.64
R=MAX(A)-MIN(A)= ! R=MAX(A)-MIN(A)=1.49
K=7 | K=7
H=R/K= ! H=R/K=0.213
vl TR R Rpes) u uf ! L] TR LEBR|  f(pes) u uf
01X ! 0IX| _3.15] 3.36 4
02X I 02x|  3.36] 3.58 3
03X ' 03| 3.58] 3.79 4
04X ! 04x|__ 3.79] 4.0 5
05X | 05X 4.00 4.22 3
06X ' 06x|  4.22]  4.43 0
07X ! 07X|  4.43]  4.64 1
08X | 08X
09X ' 09X
TOTAL ! TOTAL 20
!
|
f ' f
01X ! DT
02X I 02X *kk
03X i Daxl
04X i 04|+
05X ' 05X]***
06X " loex
07X | 07X|*
]
|
HEE TR SL=3 i SL=3
) X=Sheet1 DatalndexC+2,2+DatalndexR=3'739 i X=Sheet1 DatalndexC+2,2+DatalndexR=3'739
PR o=Sheet1 pyandexc3,2+Dataindexk=0-372 | 6=Sheet! pataindexc+3,2+Dataindexk=0-3 72
]
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<mEEHE2>

HILFT THERLEZE

DatalndexC=table_column(Sheet1)-4 DatalndexR=2

table_row(Sheet1)=8

table_column(Sheet1)=14

DatalndexC=10 DatalndexR=2

Ay 2070

—H(fork: 1to 10 step 1)
A=Sheetl , ,

H(fork: 11 to 20 step 1)

A =Sheetl KH-10.3

T( for k = 1 to 7 step 1) for making LR and T[E data
Sheet2 =3.15+(k-1)H

2,1+K
Sheet23']+k=3.1 5+kH
X]:O x2:0 x3:0 x4:O x5:0 x6:0

“(,for k=1+to 20 step 1)
x;=x,+1 A <Sheet2,,

X,=x,t1  Sheet2;,<A <Sheet2,,
X3=xt1  Sheet2; ;<A <Sheet2,,
X%t Sheet23y4<Ak§Sheet23'5 Count each areas
x5=x5+1 Sheet2, ;<A <Sheet2;
xg=xgt1 Sheet2, ;<A <Sheet2,,
x;=x,+1 Sheet2, ;<A <Sheet2,
Sheet2, ,=x, Set f

Sheet2, ;=x,

Sheet24‘4:x3

Sheet24v5:x4

Sheet2, ;=xg

Sheet2, ,=x,

Sheet2, ;=x,

Sheet3212:|x1*”*”| Draw Histgram
Sheet32v3: [x % *”
Sheet32v4:|x3*”*”

Sheet3, ;=|x,*"*"|

Sheet3, ¢=|xs*"*"|

Sheet3, ;=|xg*"*"|

Sheet3, g=|x;*"*"|
__Sheet24y11:x1+x2+x3+x4+x5+x6+x7

[T for k = 2 to 2+DatalndexR—-1 step 1)
DatalndexC
> Sheetl
Sheetly, indexcrai— DatalndexC Calculation of Mean
DatalndexC 2
< (Sheet1,;, ~Sheetlp, i dexciai)
Sheet1 Datalndex0+3,k: DatalndexC—1
- DatalndexR
P Sheet1 DatalndexC+2,2+i—1
Sheet1 DatalndexC+2,2+DataIndexR: DatalndexR Mean of Mean
DatalndexR
< Sheetl p, andexcs 2+i-1
Sheet1 DatalndexC+3,2+DataIndexR: DatalndexR Mean of Sigma
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p{ory

PEHEOTOYTS L

A={3.95, 4.64, 3.81, 3.4, 3.8, 3.57, 3.35, 4.02, 3.5, 3.74, 3.27, 3.22, 4.16, 3.15, 4.03, 4, 3.74, 3.99, 3.72, 3.71}

Calculation of Sigma
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